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Power graph equation

Warning: Can only detect less than 5000 charactersof a quantity, in which the growth rate is proportional to the instantaneous value of quantity; For example, when the value has doubled, the increase rate also doubled. The rate can be positive or negative. If negative, it is also known as exponential decay. Asymptote: a line that a curve approaches
arbitrarily up close. An asymptote can be vertical, oblique or horizontal. horizontal. Warning: Can only detect less than 5000 charactersl [/ LATEX]. The [LATEX] point (1, b) [/ LATEX] is always on the graph of an exponential function of the [latex] module y = b ~ x [/ lathex] because any positive number [latex] b [/ latex] Raised to the first [latex] 1 [/
LATEX] power supply. The [LATEX]Y = B ©~ X [/ LATEX] function takes positive values only because any positive number [LATEX] B [/ LATEX] will produce only positive values when they are increased to any power. The Warning: Can only detect less than 5000 characters- 1) [/ LATEX] is on the graph. Similarly, you can get the following points that
are also on the graph: [latex] (frac {1} {b ™ 2}, - 2), (frac {1} {b ™ 3}, - 3), (frac {1} {b ~ 4}, - 4) [/ LATEX] and so off if we take values of [latex] x [/ LATEX] which are even closer to [latex] O [/ LATEX], us Can arrive at the following points: [latex] (frac {1} {b ~ {10}}, - 10), (frac {1} {b ©~ {100}}, - 100) [/ lathex] and [ Latex] (frac {1} {b ©
{1000}}, - 1000) [/ LATEX] How can you see the value of [LATEX] X [/ LATEX] arrive AA Warning: Can only detect less than 5000 charactersof [latex] y = log { frac {1} {b}} x [/ latex] are symmetrical above [latex] x [/ LATEX] -Axis. Thus, if we identify a point [latex] (x, y) [/ latex] on the [latex] graphics graph { b} x [/ latex], we can find the
corresponding point on [latex] y = records { frac {1} {b}} x [/ LATEX] By changing the sign of [LATEX] Y [/ LATEX] -cordinate. The corresponding point is [LATEX] (X, -Y) [/ LATEX]. Here is an example for [LATEX] B = 2 [/ LATEX]. Graphs of [latex] log { 2} x [/ LATEX] and [LATEX] log { frac {1} {2}} x [/ LATEX] &,: The graphs of Warning: Can
only detect less than 5000 charactersA ¢ cm on the page, the distance from [LATEX] 1 [/ LATEX] to [LATEX] 2 [/ LATEX], [LATEX] 2 [/ LATTIC] A [LATEX] 3 [/ LATEX], etc., will be there himself), the difference in value between points on a logarithmic scale will change exponentially. A logarithmic ladder will start at a certain power of [Latex] 10 [/
LATEX], and with each unit will increase from a power of [LATEX] 10 [/ LATEX]. Therefore, if you wanted to convert a linear scale (with values [LATEX] 0-5 [/ Lactice] on a logarithmic scale, an option would be to replace [LATEX] 1,2,3,4 [/ LATEX] and 5 5 and [LATEX] 100 [/ LATEX], respectively. Among each higher value on the logarithmic scale, the
Dishmarks become closer together with the increasing value. For example, in the space between [LATEX] 1 [/ LATEX] and [LATEX] 10 [/ LATEX], [LATEX] 8 [/ LATEX] and [LATEX] 9 [/ LATEX] are much closer than [LATEX] 2 [/ LATEX] and [LATEX] 3 [/ LATEX]. The advantages of using a logarithmic scale are duplic. First, do it allows you to trace a
very wide range of data without losing the shape of the graph. Secondly, it allows you to interpolate anywhere in the plot, regardless of the graph range. Similar data tracks on a linear scale is less clear. Solving problems using logarithmic graphs a key point on the use of logarithmic graphs to solve problems is that they expand the stairs to the point
where large data ranges are more sense. In the equation mentioned above ([LATEX]J ™ * = SIGMA T ~ 4 [/ LATEX]), trace [LATEX] J [/ LATEX] vs. [LATEX] T [/ LATEX] would generate the expected curve, but the scale would be such that the minute changes pass unnoticed and the large-scale effects of the relationship dominates the chart: it is so
great that A ¢ 4,— A " Areas Interesting areas "do not fit the paper on a readable scale. Taking the logarithm of each side of the Equation yields: [LATEX] LOGJ = LOG {(SIGMA TAU)} ~ 4 [/ LATEX]. Now we are convenient to the properties Logarithms to re-write the equation. Call up the following logarithm properties: [LATEX] Log (AB) = Log (a) +
Log (B) Log (a) ™~ b = (b) Log (A) [/ LATEX] Using the above, our equation becomes: [LATEX] BEGIN {ALLINE} log ] & = 4 Log {(sigma Taa)} & =4 Log { (sigma)} + 4 Log {(TAU)}}} {Log {(
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